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QUESTION 1

Which of the following utilities can be used for quick installation of pre-configured IBM Informix instances to many
computers? 

A. Ontape utility 

B. Snapshot utility 

C. Archecker utility 

D. Deployment utility 

Correct Answer: D 

 

QUESTION 2

In which way is a Remote Standalone (RS) secondary server different from a High- Availability Data Replication (HDR)
secondary server? 

A. RS secondary servers do not support DRAUTO. 

B. RS secondary servers support replication at the column level 

C. You can have more than one RS secondary server in a cluster. 

D. RS secondary servers can be directly upgraded to a primary server. 

Correct Answer: C 

 

QUESTION 3

Which Informix utility listed below will allow an administrator to run ad hoc SQL against the instance? 

A. onsql 

B. onadmin 

C. dbaccess 

D. dbschema 

Correct Answer: C 

 

QUESTION 4

Click the Exhibit button. 
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In the exhibit, which statement is true regarding the update statement of Client 2 if both of the clients are connected to
the same logged database? 

A. Client 2 will update col2 of the rows having col1=20. 

B. Client 2 will return successfully without updating any rows. 

C. Client 2 will keep waiting for client 1 to finish its transaction. 

D. Client 2 will get an error that the "record is locked" or the "table is locked". 

Correct Answer: D 

 

QUESTION 5

Click the Exhibit button. 

Which of the following will display the values in the lead_time column from highest to lowest? 

A. SELECT * FROM manufact ORDER BY lead_time 

B. SELECT * FROM manufact ORDER BY lead_time ASC 

C. SELECT * FROM manufact ORDER BY lead_time HIGH 

D. SELECT * FROM manufact ORDER BY lead_time DESC 

Correct Answer: D 
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